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to open the booklet and compulsorily examine it as below :

(i) To have access to the question booklet. tear off the paper seal on the edge of this cover page. Do not accept a booklet without
sticker-seal and do not accept an open booklet. )
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booklets due to pages/questions missing or duplicate or not in serial order or any other discrepancy should be got replaced
immediately by a correct booklet from the invigilator within the period of five minutes. Afterwards. ncither the question
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(#ii)  Afier this verification is over. the test booklet number should be entered in the ICR answer sheet and the ICR Answer Sheet
number should be entered on this test booklet.

4. Each item has upto four alternative responses marked (A), (B), (C) and (D). The answer should be a capital letter for the selected
option. The answer letter should entirely be contained within the corresponding square.
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5. Your responses to the items for this paper are to be indicated on the ICR Answer Sheet under Paper 11 only.

6. Read instructions given inside carefully.

e Rough work is 1o be done in the end of the booklet only.

8. You have to return the original ICR Answer Sheet to the invigilators at the end of the examination compulsorily and must not carry
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conclusion of the examination.

9. Use black ball point pen.

10.  Use of any Calculators or log tables or any other electronic devices is prohibited.

11.  There shall be no negative marking.

12.  In case of any discrepancy in Gujarati and English version of questions the English version should be taken as final.
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: This paper contains FIFTY (50) multiple-choice/Assertion and Reasoning/
matching questions, each question carrying TWO (2) marks. Attempt All

the questlons

2L Uzl v (wo) mgfdgcﬂlq uadl, Y- bt@ ;,{:[ RSsi oirlicdcledl Uil
0. MM Wadlel %ol duidldl 8§, Uds Usedl 6

(2) 2@ &,

Which of the following theoretical
perspectives G.H. Mead has

adopted ?

(A) Structural Functionalism -
(B) Historical Materialism

(C) Ethnomethodology

(D) Social Behaviourism

Which thinker is known for his

dialectical materialism ?
(A) G.H. Mead

(B) Max Weber

(C) Vilfredo Pareto

(D) Karl Marx
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Which of the following is not an

example of primary group ?
(A) Family

(B) Peér Group

(C) Neighbourhood

(D) Trade Union

Who gave the idea of logical and

non-logical actions ?
(A) G.H. Méad
(B) Vilfredo Pareto
(C) C.H. Cooley
(D) Max Weber

What is the term used to the method
of assigning numerical symbols to
the different categories of responses

of the respondeﬁts ?
(A) Coding of data
(B) De-coding of data
(C) Analysis of data_

(D) Tabulation of data
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In which type of research study,
proposing hypothesis  is not

considered necessary ?

(A) Exploratory Research
(B) Diagnostic Research
(C) Experimental Research
(D) None of the above

Ralf Dahrendorfs conflict theory

fOCligBs Ol wiwussrvmnesvnranss .
(A) Statué

(B) Authority

(C) Education

(D) Economy

According to the positivistic school,
the researcher has to study social

phenomena .......ccceeveeeiurennes .
(A) Subjectively

(B) Obljectively

(C) Emotionally

(D) Ethically
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10.

11.

Parsons’ theory of social system

represents an example of ........... 5
(A) Functionalist theory

(B) Conflict theory

(C) Interactionist theory

(D) Phenomenological theory |

Which structuralist theorist put
forth the “Alliance Theory” that
emphasizes the importance of

marriage in society ?
(A) Nadel

(B) Radcliff Brown
(C) Levi-Strauss

(D) Karl Marx

Whose name is associated with the

concept of “Cultural Lag” ?
(A) Karl Marx

(B) Herbert Spencer

(C) William Ogburn

(D) Max Weber
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12.

14.

13.

Which techniqmie of data collection
is most frequently used in social

surveys ?
(A) Non-participant observation
(B) Participant observation

(C) Questionnaire
D)

In-depth Interviews

Which of the following is a type of

non-probability sampling ?

(A) Simple Random Sampling
(B) Systematic Sampling

(C) Stratified Random Sampling
(D) Purposive Sampling

With whose name the term

‘Verstehen’ is associated ?
(A) Max Weber

(B) Robert Merton

(C) Talcott Parsons

(D) G.H. Mead
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15.

16.

17.

Who is best known for criticizing
postulates in anthropological

functionalism ?

(A) Robert Merton

(B) Talcott Parsons

(C) Bronislaw Malinowski_
(D) Emile Durkheim

A change of position that does not

result into higher or lower status is

(A) Horizontal Mobility

(B) Vertical Mobility

(C). Inter-generational Mobility
(D) Intra-generational Mobility

Who is the author of “The Rules

of - Sociological Method” ?
(A) Emile Durkheim
(B) Talcott Parsons

(C) Robert Merton

(D) Ralf Dahrendorf
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18. Which term sociologists use when
two or more persons mutually

influence each others’ behaviour ?
(A) Social Event

(B) Social Behaviour

(C) Social Action

(D) Social Interaction

19. Who among the following introduced

the concepts of “in-group” and “out-
group” ?
(A) C.H. Cooley
(B) WTG. Sumner
(C) RXK. Merton
(D) R. Linton

20. In industrial society, individual’s

occupational status is usually :
(A) Conferred

(B) Achieved

(C) Ascribed

(D) None of the above
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21,

22,

23.

~In Parsonian AGIL model, which

institution is primarily associated

with adaptation.
(A) Economy
(B) Polity

(C) Education
(D) Religion

A term used to denote consistency

in measurement is .........ovovvvvnn... )
(A) Reliability
(B) Validity

(C) Accuracy

(D) Exactness

Which of the following is not an

agency of socialization ?
(A) Family

(B) School

(C) Court

(D) Media
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94. A collection of roles that goes with

a particular status is called ........ .

(A) Role Model

(B) Role Conflict

(C) Multiple Roles

(D) Role Set

95. Arrange the following pre-requisites
as they are sequenced In Talcott
Parsons’ theory of social system and

identify the correct sequence :

() Latency

(i) Integration

(i) Adaptation

(iv) Goal Attainment

(A) @)
B) @)
(C) @)

(D) ()

Sociology-II

(i)

(ii1)

(tv)

(i11)

(i11)

(iv)

(ii)

(ii)

(iv)

(@)

@

@

11

qissn e Al wdl sbid

MRSl ddst At ddld plavud

¢ 7

(A) oifisl Hisd

(B) oifust dard

(C) 35 s2dl ay o4fHsl

(D) o4lRsl 249

A3 20l ud 22 aiesiz wrlks

ABrs el Rigianl sade Yool

sllsdfl aril 2wl sy salal

@

(i)

(tii)

(tv)

(A)

(B)

(®)

(D)

Ae=il

Y-,

250

2 Ultd

@ @

@) Gw)

(i) ()

(Gv) ()

54l

(i)  (v)

(tv)

(i)

(D)

@

@)

@)

[P.T.0.]




26. A place in a particular social system  26.

which an individual occupies at a

particular time, is termed as :

(A) Role

(B) Status

(C) Role set

(D) Prestige

27. The behaviour that violates the 27.

social norm of a given society, is

termed as :

(A) Social Disintegration

(B) Social Deviance

(C) Abnormal Behaviour

(D) Anti-social Behaviour
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28. A family in which mother exercises
her authority over others is called

A sninesniiisiiin
(A) Matriarchal family
(B) Matri-local family
(C) Mother centric family
(D) None of the above

29. If an organization has 12000
Qmployees and the researcher is in
a position to select 250 respondents,
the probability of inclusion in the

SEMPIEIS cnnoampens .
(A) 1 in 250
(B) 1 in 125
(C) 1in 96

(D) 1 in 48
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30.

31.

32.

In Durkheim’s typology, which of
the following is the consequence
of very low degree of social

integration 7 -

(A) Altruistic Suicide
(B) Egoistic Suicide
(C) Fatalistic Sﬁicide
(D) Anomic Suicide

Who among the following is
associated with the dramaturgical

approach ?
(A) Mead

(B) Goffman
(C) Blumer
(D) Cooley |

Which of the following is an
example of “Closed” system of

stratification ?

(A) Caste

(B) Class

(C) Both (A) and (B)

(D) None of the above
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! 33. Match column ‘A’ with column ‘B 33 giay ‘»’ slay ‘o wd AglA Wl

and identify correct answer :

B UL :
Column A Column B . R
slay ‘v’ 514y ‘o
(@) Marx (1) Study of
(@) H5A (1) raAldatel
totemism
LYY,
() Parsons (2) Manifest
_ (b) W+ (2) »uoe s
function _
©) Merton  (3) AGIL model (0 A (3) AGIL i8¢
(d) Durkheim (4) Class- @) guldn 4) adl A
struggle g 6]

Answers

@ B @ (@

@ G @ @
@a O @ & @

@ O @ 6@
B) 2 @ @ @)

B @ & @ @

) & @ @ @
<€ & @ 2 @ '

M @ @ @ @

D @ @ @ (@
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34. (A) According to Durkheim, in

‘Mechanical Solidarity’ there is
complex division of labour and

specialization.

(B) An example of Mechanical
solidarity is the division of
labour found in simple societies

like tribes.
Which of the following is correct ?

(A) Both (A) and (B) are

correct

(B) (A) is correct, but (B) is

incorrect

(C) (A) is incorrect, but (B) is

correct

(D) Both (A) and (B) are

1ncorrect
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35. The forced indoctrination of 35. A%l St wo1wxdldl [Baw 20l

political prisoners involving the Al AUl 4SdHl AsUHL 21
rebuilding of a personality is known d {lAHiel w13 vy © ?
E2 1 . . (A) %{llil[gé’ﬁ“t’é’t

i
|
|
(A) Socialization B) ydaled wHlrs

(B) Anticipatory Socialization (© Yo Pr sl

(C) Re-socialization | D) urisRiszel

W) Autulearatan 36. 65 A A+l Gyl s WA
36. A bank manager has a different set 5 UL Roig té.\llt 9, olog doiy

of relations with his boss and del sl A sHnsil wA ey

another with his juniors and third 69 247 A{lot UsLRAL Aol AL ALesl

kind with his customers. This is an AA el @ il A1Anidl wie Gelsza

example of : : 0 7

(A) Status set (A) e 39

(B) Role set B) oML 99

(C) Multiple role ' (C) s $dl ay oilﬁgt

(D) Role strain | D) o351 il

Sociology-II




37.

38.

When a woman of higher status
marries a man of lower status, it is

known as :

(A) Hypogamy
(B) Hypergamy
(C) Endogamy
(D) Exogamy

Tracing descent from mother to

daughter was praétised by :
(1) Khasis

(2) Nairs

(3) Jaintia

(4) Jats

- The correct answer is :

A) (1, @), @)
B) O, @, @
© (), @, @
D) @, @), @
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39.

40.

4].

In a causal relationship the variable

that is to be explained is called :
(A) Independent

(B) Anterior

(C) Dependent

(D) In£ervening

In the analysis of social structure,
who dealt with the idea of core and

periphery ?

(A) Radcliffe Brown

(B) Robert Merton

Levi Strauss

(C)

(D) Nadel

“There is a positive relationship

between the  practice of
untouchability and inter-caste
conflict.” Methodologically speaking,
the statement given above is an

example of ......... :

(A) Cause of intercaste conflict

(B) Negative aspect of caste

system

(C) Description of reality

(D) Hypothesized relation between

the two
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42. The general standards in terms of 42, W= MM Yool @lsl adgysl

which people decide about the Saofludl sadl vFHaadl ssl

" g 3 'l't f 5 ..\ & ~ ~
desirability or undesirability o $3 8 a-dl 3l A eulaw © ?

behaviour are referred to as :

(A) RAsierlcns €8I,
(A) Relational norms _

B) Rux-sdl giell
(B) Regulative norms

. () AwMLFSs gzl
(C) Social norms :

(D) Cultural values (D) Q‘U%-‘g[?lﬁ Hel

43. Which of the following pair 43. ~{A-l assiuidl sy As§ AeilAd

represents an example of probability '-L%_i,?-tl';jl' Gelssl & ?

sampling ? 5 - . ~ N
| pang (A) 2-ox Arudlol A leld

(A) Random - sampling  and Aoy

Snowball sampling
(B) -sx Arudlol 2 [uedles

(B) Random sampling and . ‘
Arudlal
systematic sampling

(C) sy Arudlor »nd uRYwq
(C) Random sampling and &

(8qasl) Axudlal

purposive sampling

(D) Random sampling and (D) ¥, Aoy 2 sl

convenience sampling ; ArudlaL
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44. A condition in which an instrument

45.

measures exactly what 1t 1is
supposed to measure is termed

as wsvsaaiene i
(A) Reliability
(B) Validity

(C) Accuracy
(D) Exactness

Which of ;uhe following thinkers does
not belong to the Frankfurt School

in Germany ?

(A) Max Horkheimer
(B) Karl Marx

(C) Herbert Marcuse

(D) Theodor Adorno
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(A) Asu SlvlHR

B) sid WA

(C) wold ﬁz{

M) @yls2 Asidl
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46. Caste system represents a rigid form

of stratification, 1is Dbased

on :

(A) Ascribed status

(B) Achieved status

Restrictions on social

relationship
(D) Occupation

47. Who proposed the functional theory

of stratification ?
(A) Davis and Moore
(B) Parsons
(C) Merton
(D) Nadel

48. Who i1s considered as the father of

structuralism ?
(A) Parsons

(B) Levi Strauss
(C) Malinowski

(D) Radcliffe Brown
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silfdqaRal 58Ul %S 13U O

% AlAld © :
(A) »d %
(B) Uld %%
(©) AwHLrs doldl Gur [Nl
(D) Hauly
szl staleis Rigid 29 sl
(A) Slas »n YR

(B) Wl

(©) ¥

(D) ~udd
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(A) Rl
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49. Who said conflict promotes 49 gd sg 3 Aarl AUls AR

50.

soclation ?

(A) G. Simmel

(B) F. Tonnies

(C) M. Weber

(D) K. Marx

Which technique of sampling can be

adopted by the researcher

interested in study of inter-caste

married couples ?

(A) Probability

(B) Random

(C) . Snowball

(D) Accidental
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50.

Uil Y & ?
@A) @. Aia
(B) 5. 2l
(C) M 4R
(D) 5. MY

Midsild aort wallRd Yol
U SALR dalas suL sl

Feald uyBa-l Gudlo s 7
(A) Asfaddl

(B) u59

(C) ielld

(D) sls
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ROUGH WORK
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